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Time: 35 Minutes

| Paper Math7(T-1) |  Total Marks: 25

| 6th Month, 4th Week, 6th Day |

Revision Test (Domain 5) |
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Choose the correct options. 1x13=13) - /&,l‘?l&,lzc/»

The temperature of a room is data: sl 726 / ug
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The weight of a bag is data: el u);(&ug
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(iii)

What is the mean of data 25, 29, 12, 15, 31, 36, 38, 40, 30?
?‘Llfmins, 29, 12, 15, 31, 36, 38, 40, 30(:3
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(iv)

In5,9,8,9,10, 11,3, 7 then mode is: ‘e 00bU45,9,8,9,10,11, 3,7
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Ungrouped data is also known as:

(a
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qualitative data SI#Gsk= [(b)| grouped data Jlr‘d‘}/
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raw data quantitative data S
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(vi)

The mean of five numbers is 15.75. If the first four numbers are 16.25,
14.25, 15.50 and 15.73 then find the 5th number.
s LIUn16.2514.255115.50415.73 5wl S 15,7541 oLt G
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16.25 (b) 17.02 (© 15.73 d) 14.25

(vii)

The probability of not getting number 1 in a rolling a dice is:
e b6 Te Lo EEE L AL
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(x) The singular of data is: I‘LM'!J 3
(a) | datum (‘15 (b) | graph o1l (c) | values u,‘;g (d) [observationseLuL+
(xi) Pie graph is also called: w;{u‘ff_}!f J&
(a)| histogram ¢ s (b) | line graph J'/';cf U
(¢)| bar graph S { |(d)| circular graph A Sasls
(xii) The value of probability lies between: :‘L&@uyﬁé__wf JUW

(@] 0<P(A)<l |()| O0=P(A)=I |(c)| O<P(A)<l [(d)| O<P(A)<Il

(xiii) The probability of getting number 6 in rolling a dice is:
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(viii) Grouped data can be in the form of:
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raw form J/; (b | (b) | ungrouped data )Ir‘du/;f
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frequency table Jugdu; (d) [ None of these

(ix)

What is the mode of the data 2, 5,9, 4, 3, 6, 10, 11, 12?
S L23062,5,9,4,3,6,10, 11, 1215
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No mode
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4x2=8) -2l ils
Write the difference between grouped data and ungrouped data.
-u’.‘f”g Ofu:)lr(ﬁ)/%ﬂb'/d‘)/

Compare mean, median and mode, and also tell the shape of distribution of

Answer the following questions:

the given data.
LGS I il Lot Ko e
24, 80, 50, 55, 66, 68, 79, 80, 80, 95
A pair of fair coin is tossed. Find the probability of getting of the following:
LI 5o LI 52 LK
(a) at least one head jr“‘[ug ﬂ:'ﬂ/ (b) At least one tail Jf wgﬂ'#/
Tahir throws a pair of fair dice. Find the probability of getting.
_u:/(()"’ugtlKJ/J}'@J}-%C%EV@LI}»&»U/:lb
Product of dots between 10 — 30. -‘Luyuémm 10.://“)"(7%&5
The mean mass of 10 sacks of rice is 50.25 kg. The masses of 9 sacks of
rice (in kg) are: (1x4=4)
L5 UE S A9 L 50250100 U
49.5, 55.75, 50.5, 51.75, 48.25, 47.5, 54.23, 55.26, 53.25
What is the mass of 10 sack? Also find median and mode.

-u:/'/r}""ﬁ;lu;l::lbd?‘ggu’l.Ku;‘./)fl()



